wk10 alg 2nd.notebook March 13, 2019

atro N
1. Find two numbers that sum to 8 and have a product. u[ 12 2. lo
piililiy

G T

2. Find two numbers that sum to 5. 5 and have a product uf 6 2% 1.

March 11, 2019, Monday 5 ke
3. Find two numbers that sum to 5 and have a product of -14 = @/ 7 %* %y
4. Find two numbers that sum to -8 and have a product oF"12 ;&,‘_(Q’V"- B
SAMPLE ITEMS S = -
T e eRreasion s o ERRAGIOTIGT R B GH 17 5. Find two numbers that sum to 16 and have a product of 15 \5 -3y
FEre 6. Find two numbers that sum to -4 and have a product of -21 é’j\*l s 4
P sy
B. -n°+5n+4 7. Find two numbers that sum dnaveapraducmrJ ; -7 1%
c. 72n@+ 5 i A7 -
| D. 4n’ +n-5 8. Find two numbers that sum to -14 and have a product of mﬂ / ‘0

125
2 5 .23
9. Find two numbers that sum to 0 and have a product of -25 s
=
-5
s\é/q/ 10. Find two numbers that sum to 8 and have a product of 16 L H
p

a
2. The expressln used to calculate the here 5 s the side length of the Ml he kg 225
: iﬂq +5=
square. What dSes the expression (8x)2 Vepm#ﬁ 8X) N (’stijz) b3z lcé e ‘Jr Z -y
A. the area of a square with a side length of 8 Xt 3x4 X + (§ Y& 2%+ ?x -1

i the area of a square with a side \enith of 16 S 8x B
v

e
binomial sbovs?

Mar 6-8:21 AM Mar 11-7:57 AM

Unit 30 Day 2 Noles_Facloring Trinomials when a = 1 GSE Algebra | Unit 34 - Facloring Quadralics
MCCY:124,58 30| con oclo, o quadralic xprassion o rgveol e zoroes of g fucion defines Name oat.
Now let's factor frinomials! (3 ferms Factoring Trinomials (ax? + bx + €)
« Remember. we Factor each rinomial complefely. “Hint - #8-10 take out a GCF 141°
1-le Y3 +

Bampla Tt e st T x-14 S 2 224

oo RS B (x~7)(X+2)->§Z” (x-42a+b) /%0

To factor a finomial, it breaks down info a product of binomials (2 terms each)

What are the factors of 6 (what pairs multiply fo m_: :.b! Which pair adds fo be 5(,'\7 + § ) l X+ ?_)( X~ 3 )

—+

- 5 X ex-20 4 X -5x-66

X 2
Answer(x + 2 +B) (X"'(JXX-(/) 6~l¢b—l
?t

e cer + ¢
L{ 5, /\ox 24 ) ) 6\x /%18 _ 7.
G aked >< (“\Q\K‘H (())(( +ﬁ’LZl(Y i %( Rl -mq
ée 1’~GCFQ

2
Iq 7. X -6x-16 8. 2 +12¢" +18x
(>c1'3)(x *S-;A \y \ 2t z@x.xu‘ig r

> ax(x‘+ w:@
M (x"‘) Cepay Q3 3

- 9. I +12x-63 10, 2% - 6x% - 20x /l
RYAR) *24@

3 e e 12

5 xox-

(3K )

7. x-6x+8

-ax-Y)

e koo
PEVEL U

Mar 11-7:59 AM Mar 11-7:58 AM

el e e 1 1) ¢+ 1706 1) 20 - 15w 28
Factoring In-Class Assignment
6 Cgrexsd) SC19 )
13) 8K+ 30k+7 14) 40’ ~17a+4
3) 705 + 6327 - 42x 4) 635" 28
Ix(10%3x % - b) HAx2-Y)
e 4 FORT (thow o) o
o osmets
by N Gror [y
l .P P ) g ( *QX(% )
44T

7 Foas Ty
(x1XX-4) ¢ Lw)l o
) W (me X m=1)

(h- m uy -9 (r.mm),%h

X

Mar 6-8:40 AM Mar 6-8:40 AM



wk10 alg 2nd.notebook

March 13, 2019

March 12, 2019, Tuesday

1. What is the product of 7x - 4 ggBx +

($x-UX8x+5)

S5 A
2

ok Q*-b* = (a+blo-b)
lp q },’- k‘{actor by GCF: Factor by DOTS (Difference of 2 Squares)

s T -
‘53b§+4sb2= il 9—4x? = az?

£333-bbb+2-222:5 b (- (2x)* b=
a s
Wb+ g ) (2+2x)3-2x)

9m? = 27m +9m? = 4x? - 16 = aAz2x
3-3-m.m—- 333 m+23 . ”-\3.;3;3 QX)"-_H)"- b= Q
(=34 m*) (2x+4Xr-Y)

Mar 6-8:42 AM

Factor by a = 1 (Factors of c that add to b) Factor by a # 1 (Bottoms Up Method)

& b e
Mo n e 3, 9x2 +27x +8 =

) TR
\2x2+2x—4= -+ _\-§é -$0x2—38x+12=
b (x2+x-2) \ 12%%@:5
2 (k- 042) e TR

C‘ﬁ) Ny

(=2

Mar 6-8:42 AM

X2+23x+32
(reXOr2y? 5

E’actor bya#1 (Bo ols msUp Method) > T O GCR
m 1z
? + 27x + +
23
2y
X + ) k04
%ézﬂz%‘“ _IEIJZZ 9
S W
K- £
&(X %XX |§°)/‘°—3 = HI% 30

ALK AR ) R
&(5& 2X2%-3) =30 4~

Mar 12-10:33 AM

March 13, 2019, Wednesday
1. Which expression is equivalent to uuf 64y22 ':I; z - ( R X b)
2 — = (c+bXa-
e x) G5 a-b
C. (11x + 8y)(11x + 8y)

=lx

®¢1lx 8y)(11x - 8)
R b = B_Lj Answers to Uni
G 1D 2 ¢
2. Whatis cnmmnfn for the pressh(:llx 1&(‘&4
Crgx"f' £ P 5
_xs(x72)(3x’+5) A :1 (A1 1{‘1. .,(; b“l‘ éj
29 25
2323, 23 47,979 L}?

3. Which of these shows the complete factor lzatl MG ~oxy

=D A 3297 - T2+ 2) 33)( Yll 3XY‘

B. (3w +6)(2y - 7)

By
Qmifl lF\naHhc(,Qr: 30 Ky 3‘ Rﬁ) -2

3l pick Nss()&ﬁjiwzq zﬂp

R RS VB

March 14, 2019, Thursday

¢ Consider the expression 3% +n + 2.

a. What is the coefficient of n?

4 Factor the expression 12x° + 14x— 6.

¢ Factor the expression 16a? - 81.
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23, Determine whether
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squares. I so, choose the
correct factorization.
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Factor completely, if possible...
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Factor the common factor out of each expression. Circle your final answer.

1) 20-% + 87

Factor each completely.

3) 25p° -4

5) nf—3n—4
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9) 5a%+6a—-8
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4 a*-3a-28
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8) 97 —38x+8
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19. Which of the following
correctly factors out the
greatest common factor of
5x3 + 20%7

a) 57 +4)
b) 5x(x*+4)
) 5(x +4x)
d) Sx(a® +4x)

20.What is the correct
factorization of
x®—2x-247

a) (x—4#)(x—6)
b) (x—2)(x+12)
o (x+4)(x-6)
d) (x—4(x+6)

21.Which value of bwould
make x* + bx —
factorable?

a) 8
b) 4
o 10
d 2

22. The area of a rectangle is
3x% = 10x + 7. The width is
3x—7.What is the length of
the rectangle?

a) x+1)
b) (x-7)
c) (x+3)
4 x-1)

23 Determine whether
x* = 36 is a difference of two
squares.If 5o, choose the
correct factorization.

a) No
b) Ves; (x - 6)°
©) Ves: (x-6)(x +6)
d) Yes; (x +6)°

24.When multiplied, which of
the following gives youx* +
2x—37

a) (x+3x-1)
b) (x-3x+1)
c) (x+3x+1)
dy (x-3)x-1)

25.Which expression is a factor
of 2x* —x—17

a) 2x-1
b) 2x+1
O x+2
d) x-2

26. What type of equations do
we factor?

27.Write an example of an
expression that would be
factored using bothGCF and
difference of perfect squares.
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